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1 GP-IB
1-1
1-2
1-3
1-4
1-5
1-6
1-7
1-8

4-1
4-2
4-3
4-4
4-5
4-6
4-7
4-8
4-9
4-10

5-1
5-2
5-3
5-4
5-5
5-6
5-7
5-8
5-9
5-10
5-11

GP-1B

VXXX . X

AX XXX

FXXX. X

MLX

MSx

Ox ON/OFF

RX 280V/140V
Mx /
Sx SRQ ON/OFF

V?
V?S
A?
A?S
w?
p?
F?S
C?

H?
S? SRQ ON/OFF

g H W W wWwR R R R

© 00 N o

16
17
18
19
20
21
22
23
25
26
28

24

27



1-1

SH1
AH1
( ) T6
( ) L4
SR1
RL1
DC1
DT1
co
PPO
2
1-2
ASCI
1-3
EOl "LF" "LF"+EOI
"CR"+"LF"+EOI
( ) || ||
"CR*® "LF"
1-4
1k byte
1k byte
1-5
MODE GPIB MODE
gPIb
PPI
232C RS-232C
gPIb GPIB
AV



1

GPIB

gPlb

ENT

OFF

ENT

GP-1B

ON

AUUEDDDDODOE

Hz
60.00

N

1

JEREEREEEG

MODE

MODE

3

9600

232

MODE

<

MODE

N

—

60.0

ENT



1-6
IFC
REN REN

LOCK

1 REM

1-7
GTL

LOCK

SDC
ON

1-8
LLO
DCL
ON
SPE
SPD
SRQ( ) 4-10

D

LOCK

OFF

OFF

REM

MODE

LOCK

LOCK

LOCK



" N = == UV VW O O =T =2 T r o<

O MM U= ror < <

N T -

O P O Fr O Fr O B

NN Y N

X:

*CR* (ODH)

10ms

cp*
cp®
cp*
cp®
cp*
cp*
cp®
cp*
cp®
cp*
cp®
cp®
cp*

cp*
cp®
cp*
cp*
cp®
cp*
cp®
cp*
cp®
cp®
cp*

KEY

280V
140V

SRQ
SRQ
SRQ

SRO

ON
OFF

4-1
4-2
4-3
4-4
4-5
4-6
4-6
4-7
4-7
4-8
4-8
4-9
4-9
4-10
5-1
5-2
5-3

5-5
5-6
5-7
5-8
5-9
5-10
5-11



* CLF" "CR"

V100*
V100" CR"F50*
V100, F50*

V100
V100F50*
V1000*

V?2*
V?"CR"A?*
V?, A?*

V?
V?2A?*

100V
100V, 50Hz
100V, 50Hz

1000

(PC-9801 PC-9801-29K

100 V=120

110 PRINT @ 5;"V"+STR$(V)+",V?S"

120 INPUT @ 5;VS$

130 VS=VAL(MID$(VS$,2,5))

140 PRINT VS;

BASIC

150 IF V=VS THEN PRINT "OK"™ ELSE PRINT "NG"



PC-9801 PC-9801-29K BASIC
5
4-1  VXxX.X

Xxx.X 0 280.0 (280v )
xxx.x 0 140.0 (140v )
100V

ASCI1=V100
HEX=56 31 30 30

ASCI1=v100,
HEX=56 31 30 30 2C

ASCI1=v100.0
HEX=56 31 30 30 2E 30

< >

100 ISET IFC : CMD DELIM=0
110 INPUT ™ = ";SV$
120 PRINT @ 5;"V"+SV$

130 GOTO 100

RUN

10
100

ON
V?S



4-2 AX.XXX

X . XXX 140 0 2.1
X XXX 280 0 1.05

2A

ASCI1=A2
HEX=41 32

ASCII=A2,
HEX=41 32 2C

ASCI1=A2.000
HEX=41 32 2E 30 30 30

< >

100 ISET IFC : CMD DELIM=0
110 INPUT ™ = ";SA$
120 PRINT @ 5;"A"+SA$

130 GOTO 100

RUN

1
=

0.5

1
N

( ) A?S



4-3  FXXX.X

XXX . X 1 999.9

60Hz
ASCI11=F60
HEX=46 36 30
ASCI1=F60,

HEX=46 36 30 2C

ASCI1=F60.00
HEX=46 36 30 2E 30 30

< >
100 ISET IFC : CMD DELIM=0
110 INPUT ™ = ";SF$

120 PRINT @ 5;"F"+SF$
130 GOTO 100

RUN
=50
= 60

= 100

F?S



4-4

MLXx

MSx

ASCII=ML2
HEX=4D 4C 32

ASCII=ML2,
HEX=4D 4C 32 2C

< >

100 ISET IFC : CMD DELIM=0
110 INPUT ™ NO = ";SML$
120 PRINT @ 5;"ML"+SML$
130 GOTO 100

RUN

NO

NO
NO

11 1
N

1
©

ON

OFF



4-5  MSx

X
X 0 9
2
ASCI1=MS2
HEX=4D 53 32
ASCI1=NMS2,

HEX=4D 53 32 2C

< >
100 ISET IFC : CMD DELIM=0
110 INPUT ™ NO = ";SMS$

120 PRINT @ 5;"MS"+SMS$
130 GOTO 100

RUN

NO

NO
NO

10



4-6

0x

ON/OFF
x=1 ON
x=0 OFF

ASCI1=01
HEX=4F 31

ASCI1=01,
HEX=4F 31 2C

< >

100 ISET IFC : CMD DELIM=0

110 INPUT ™ ON/OFF(1/0) = ";S0$
120 PRINT @ 5;"0"+S0$

130 GOTO 100

RUN

ON/OFF(1/0) = 1
ON/OFF(1/0) = 0

11



4-7

Rx

=1
x=0

ASCI1=R1

HEX=

ASCII=R1,

HEX=

<

100
110
120
130

RUN

280V
140V

52 31

52 31 2C

>

ISET IFC - CMD DELIM=0

INPUT " 280V/140V(1/0) = ";SR$
PRINT @ 5;"R"+SR$
GOTO 100

280V/140V(1/0) = 1
280V/140V(1/0) = 0
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4-8  MXx

x=1

x=0

ASCII=M1
HEX=4D 31

ASCII=M1,
HEX=4D 31 2C

< >

100 ISET IFC : CMD DELIM=0

110 INPUT ™ ON/OFF(1/0) = ";SM$
120 PRINT @ 5;"M"+SM$

130 GOTO 100

RUN
ON/OFF(1/0) = 1
ON/OFF(1/0) = 0
AX . XXX
ON AX . XXX
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SXx
SRQ

=1 SRQ
x=0 SRQ

ASCI1=S1
HEX=53 31

ASCI=S1,
HEX=53 31 2C

< >

100 ISET IFC : CMD DELIM=0

110 INPUT "™ SRQ ON/OFF(1/0) = ";S$
120 PRINT @ 5;"S"+S$

130 GOTO 100

RUN

SRQ ON/OFF(1/0) = 1
SRQ ON/OFF(1/0) = 0

14



4-10  SRQ(
SRQ ON

IT

O L D W B~ O O N W

OVH( )

SRQ

OVL
OVH

100
110
120
130
200
210
220

RUN

OvVL
52
OVH
71

SRQ

ON -

>

OVL(

ISET IFC - CMD DELIM=0

ON SRQ GOSUB 200
SRQ ON

GOTO 130

POLL 5,SB

PRINT HEX$(SB)
RETURN

15

SRQ



V?

100v

10v

ASCII=V?

HEX=56 3F
ASCII=V?,

HEX=56 3F 2C
ASCI1=v100.0

HEX=56 31 30 30 2E 30

ASCI1=V010.0

HEX=56 30 31 30 2E 30

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"v?"

120 INPUT @ 5;V$

130 PRINT V$

RUN

V100.0

16



5-2

V?S

100v

10v

ASCII=V?S
HEX=56 3F 53
ASCII=V?S,

HEX=56 3F 53 2C

ASCI1=v100.0
HEX=56 31 30 30 2E 30

ASCI1=V010.0
HEX=56 30 31 30 2E 30
< >
100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"v?S"
120 INPUT @ 5;VS$
130 PRINT VS$

RUN

V100.0

17



5-3

A?

1A

0.5A

ASCI1=A?

HEX=41 3F
ASCI1=A?,

HEX=41 3F 2C
ASCI11=A1.000

HEX=41 31 2E 30 30 30

ASCI11=A0.500
HEX=41 30 2E 35 30 30

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"A?"

120 INPUT @ 5;A$

130 PRINT A$

RUN

A1.000
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5-4

A?S

1A

0.5A

ASCI1=A?S
HEX=41 3F 53
ASCII=A?S,

HEX=41 3F 53 2C

ASCI1=A1.000
HEX=41 31 2E 30 30 30

ASCI1=A0.500
HEX=41 30 2E 35 30 30

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"A?S"

120 INPUT @ 5;AS$

130 PRINT AS$

RUN

A1.000

19



5-5

w?

1ow

200w

ASCII=W?

HEX=57 3F
ASCII=w?,

HEX=57 3F 2C
ASCI11=w010.0

HEX=57 30 31 30 2E 30

ASCI11=w200.0
HEX=57 32 30 30 2E 30

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"w?"

120 INPUT @ 5;W$

130 PRINT W$

RUN

W100.0
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5-6

P?

ASCI1=P?
HEX=50 3F
ASCII=P?,
HEX=50 3F 2C
1.000
ASCI1=P1.000

HEX=50 31 2E 30 30 30

0.8
ASCI1=P0.800
HEX=50 30 2E 38 30 30

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"P?"

120 INPUT @ 5;P$

130 PRINT P$

RUN

P0.800
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5-7

F?S
ASCI1=F?S
HEX=46 3F 53
ASCII1=F?S,
HEX=46 3F 53 2C
1.000Hz
ASCI1=F1.000
HEX=46 31 2E 30 30 30
60Hz
ASCI11=F60.00
HEX=46 36 30 2E 30 30
999 _9Hz

ASCI1=F999.9
HEX=46 39 39 39 2E 39

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"F?S"

120 INPUT @ 5;F$

130 PRINT F$

RUN

F60.00
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bit 2byte

1 (ASCIl =0 .. 3 HEX = 30 .. 33)
1 0
bit0 OVL( ) -
bitl OVH( ) -
(ASCI1 =0 .. 7 HEX =30 ..37)
1 0
bit0 ON OFF
bitl 280V 140V
bit2
ASCI1=C?
HEX=43 3F
ASCI1=C?,
HEX=43 3F 2C
280V OFF OVL OVH
ASCI1=C02
HEX=43 30 32
140V ON  OVL OVH
ASCI1=C01
HEX=43 30 31
140V ON  OVL OVH
ASCI1=C31
HEX=43 33 31

23



100
110
120
130
150
160
170
180
190
200
210

RUN

01
ouT

>
ISET IFC : CMD DELIM=0
PRINT @ 5;"C?"
INPUT @ 5;C$
PRINT C$
C=VAL(C$) : CL=C MOD 10 : CH=INT(C/10)
IF(CL AND 1)=1 THEN PRINT "OUT ON" ELSE PRINT "OUT OFF"
IF(CL AND 2)=2 THEN PRINT"280V " ELSE PRINT 140V "
IF (CL AND 4)=4 THEN PRINT "A LIMIT" ELSE PRINT "NOMAL"
IF(CH AND 1)=1 THEN PRINT "“OVER LOAD" ELSE PRINT " "
IF (CH AND 2)=2 THEN PRINT "OVER LOAD"ELSE PRINT " "
END

ON

140V
NOMAL
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ASCII=17?
HEX=49 3F

ASCII=1?,
HEX=49 3F 2C

< >

100 ISET IFC : CMD DELIM=0

110 PRINT @ 5;"17"

120 INPUT @ 5;1LNS$ .
130 LN=VAL(ILN$)

140 FOR 1=0 TO LN

150 LINE INPUT @ 5;1$(1) .
160 NEXT

170

180 FOR 1=0 TO LN

190 PRINT 1$(1) .
200 NEXT

210 END

RUN

TOKYO SEIDEN CO..LTD.
AC Power Supply CVFT1-200HA
Ver 1.00
Maximum current 1(A) at 280(v) range
2(A) at 140(v) range
Frequency 1.000(Hz) 999.9(Hz)

25



5-10 H?

ASCI1=H?

HEX=48 3F

ASCI1=H?,

HEX=48 3F 2C

<

>

10 DIM H$(30) .

100
110
120
130
140
150
160
170
180
190
200
210
220

ISET IFC : CMD DELIM=0
PRINT @ 5;"H?" .
INPUT @ 5;HLNS$ .
LN=VAL (HLN$)

FOR 1=0 TO LN

LINE INPUT @ 5;H$(I) .
NEXT

FOR 1=0 TO LN

PRINT H$(1) .

IF 1=18 THEN PRINT "HIT ANY KEY" :

NEXT
END

26
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RUN

VXXX . X .... set voltage

AX XXX .... set current (only current limit mode)
FXXX.X .... set frequency

V? .... read voltage

V?S .... read set voltage

A? .... read current

A?S .... read set current

F? .... read set frequency

W? .... read watto

P? .... read W/VA

1? .... read information

H? .... read help

00 .... set out off

01 .-.- set out on

RO .... set 140(v)range

R1 .... set 280(v)range

MO .... set maximum power mode
M1 .... set current limit mode
MLX .... memory load 0 - 9

MSx .... memory save 0 - 9

SO .... set SRQ off

S1 .... set SRQ on

S? .... read SRQ on/off

C? .... read condetion

low byte bitO..out bitl..range bit2..mode
high byte bit0..0OVL bitl._OVH

27



5-11 S?
SRQ

ASCI1=8?
HEX=53 3F

ASCI1=8?,
HEX=53 3F 2C

OFF
ASCI1=50
HEX=53 30

ON
ASCI1=81
HEX=53 31

< >

100 ISET IFC : CMD DELIM=0
110 PRINT @ 5;"S?"

120 INPUT @ 5;S$

130 PRINT S$

RUN

SO
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